Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING APPLICATION

Please TYPE Form and File ONE Copy

Form CP-1 September 2003 This Form must be Typed Form must be Signed All blanks must be Filled

indicate original spud or completion date	nc.	KOO Linna #, 5123		
(Owner / Company Nama)		KCC License #: 5123 (Operator's)		
Address: 100 S. Main, Suite 505	67000	City: Wichita	000 0407	
	Zip Code: 67202			
Lease: Reida	Well #:_5	•	S. R. 7 East ✓ Wes	
<u>SW</u> - <u>NW</u> - <u>SW</u>	Spot Location / QQQQ County	Kingman		
1650 Feet (in exact footage) From	n North / V South (from neare.	st outside section corner) Line of S	Section (Not Lease Line)	
From Feet (in exact footage) From	n East / 🗸 West (from neare	st outside section corner) Line of S	Section (Not Lease Line)	
Check One: Oil Well Gas Well	D&A Cathodic	Water Supply Well		
SWD Docket #	ENHR Docket #		iher:	
Conductor Casing Size:	Set at:	Cemented with:	Sack	
Surface Casing Size: 8 5/8	Set at: _261	Cemented with: 200)Sack	
Production Casing Size: 4 1/2"	Set at: 4198	Cemented with: 160	Sack	
List <i>(ALL)</i> Perforations and Bridgeplug Sets: Pe	erfs. 4096-4106			
Elevation: 1459 (G.L. / K.B.) T.D.: 4. Condition of Well: Good Po	PBTD: 4160 Or Casing Leak Jur	k in Hole ack with sand to 4050. Use c	(Stone Corral Formation) Stone Corral Formation) Stone Corral Formation)	
Elevation: 1459 (G.L./VK.B.) T.D.: 4	PBTD: 4160 Or Casing Leak Jur	k in Hole ack with sand to 4050. Use c	Istone Corral Formation) lump bailer to dump 5 sx. cement listrict 2 office (316-630-4000).	
Elevation: 1459 (G.L. / J.K.B.) T.D.: 4. Condition of Well: J Good Po Proposed Method of Plugging (attach a separate pontop of sand. Cut and recover casing. Af	PBTD: 4160 Or Casing Leak Jur Dage if additional space is needed): Plug better casing recovery follow top hole plu	k in Hole ack with sand to 4050. Use conging instructions of K.C.C. D	lump bailer to dump 5 sx. cement bistrict 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM	
Elevation: 1459 (G.L./VK.B.) T.D.: 4. Condition of Well: Good Po	PBTD: 4160 And Description And And Description And Descriptio	k in Hole ack with sand to 4050. Use o	lump bailer to dump 5 sx. cement district 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMMISEP 2 9 2006	
Elevation: 1459 (G.L. / V.K.B.) T.D.: 4. Condition of Well: Good Po Proposed Method of Plugging (attach a separate pontop of sand. Cut and recover casing. Af	PBTD: 4160 And Description And And Description And Descriptio	k in Hole ack with sand to 4050. Use o	lump bailer to dump 5 sx. cement district 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION	
Elevation: 1459 (G.L. / K.B.) T.D.: 4: Condition of Well: Good Po Proposed Method of Plugging (attach a separate pontop of sand. Cut and recover casing. Affects Is Well Log attached to this application as required for the separate pontop of sand.	PBTD: 4160 Ank or Casing Leak Jur nage if additional space is needed): Plug better casing recovery follow top hole plus od? Yes No Is ACO-1 filed	k in Hole ack with sand to 4050. Use of the distribution of K.C.C. Description of the distribution of the	lump bailer to dump 5 sx. cement bistrict 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS	
Elevation: 1459 (G.L. / K.B.) T.D.: 4. Condition of Well: Good Po Proposed Method of Plugging (attach a separate pontop of sand. Cut and recover casing. Affiliation as required in the separate pontop of sand. Well Log attached to this application as required in the separate pontop of sand. Plugging of this Well will be done in accordance.	PBTD: 4160 And Description	k in Hole ack with sand to 4050. Use of the sand in t	lump bailer to dump 5 sx. cement bistrict 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS	
Elevation: 1459 (G.L. / K.B.) T.D.: 4. Condition of Well: Good Po Proposed Method of Plugging (attach a separate pontop of sand. Cut and recover casing. Affiliation as required in the separate pontop of sand. Well Log attached to this application as required in the separate pontop of sand. Plugging of this Well will be done in accordance.	PBTD: 4160 And Description	k in Hole ack with sand to 4050. Use of the sand in t	lump bailer to dump 5 sx. cement bistrict 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS	
Elevation: 1459 (G.L. / J.K.B.) T.D.: 4. Condition of Well: J Good Po Proposed Method of Plugging (attach a separate pontop of sand. Cut and recover casing. Affiliation as required in the separate pontop of sand. Cut and recover casing and the separate pontop of sand. Cut and recover casing are separate pontop of sand.	PBTD: 4160 And Description	k in Hole ack with sand to 4050. Use of the sand regulations of the Sand Regulations of the Sand Russell Myers	Iump bailer to dump 5 sx. cement district 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS tate Corporation Commission.	
Elevation: 1459 (G.L. / J.K.B.) T.D.: 4. Condition of Well: J Good Po Proposed Method of Plugging (attach a separate p on top of sand. Cut and recover casing. Aff Is Well Log attached to this application as require If not explain why? Plugging of this Well will be done in accordant List Name of Company Representative authorized Address: 2485 S. State Rd. 14	PBTD: 4160 Ank Or Casing Leak Jur Dage if additional space is needed): Plug be ter casing recovery follow top hole plug add? Yes No Is ACO-1 filed Ce with K.S.A. 55-101 et. seq. and the add to be in charge of plugging operations	k in Hole ack with sand to 4050. Use of the sand Regulations of the sand Regu	Iump bailer to dump 5 sx. cement bistrict 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS tate Corporation Commission.	
Elevation: 1459 (G.L. / K.B.) T.D.: 4: Condition of Well: Good Po Proposed Method of Plugging (attach a separate p on top of sand. Cut and recover casing. Aff Is Well Log attached to this application as require If not explain why? Plugging of this Well will be done in accordant List Name of Company Representative authorized Address: 2485 S. State Rd. 14 Plugging Contractor: Quality Well Service	PBTD: 4160 Ank Or Casing Leak Jur Dage if additional space is needed): Plug to ter casing recovery follow top hole plug ad? Yes No Is ACO-1 filed The ce with K.S.A. 55-101 et. seq. and the add to be in charge of plugging operations (Company Name)	k in Hole ack with sand to 4050. Use of gging instructions of K.C.C. D Yes No Rules and Regulations of the S Russell Myers Phone: (620) 793 City / State: Kingman, Kan KCC License #: 31925	Iump bailer to dump 5 sx. cement district 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS tate Corporation Commission.	
Elevation: 1459 (G.L. / K.B.) T.D.: 4: Condition of Well: Good Po Proposed Method of Plugging (attach a separate p on top of sand. Cut and recover casing. Aff Is Well Log attached to this application as require If not explain why? Plugging of this Well will be done in accordant List Name of Company Representative authorized Address: 2485 S. State Rd. 14 Plugging Contractor: Quality Well Service Address: 401 West Main, Lyons, Kansas 67	PBTD: 4160 Ank Or Casing Leak Jur Dage if additional space is needed): Plug to ter casing recovery follow top hole plug ad? Yes No Is ACO-1 filed The ce with K.S.A. 55-101 et. seq. and the add to be in charge of plugging operations (Company Name) 554	k in Hole ack with sand to 4050. Use of the sand Regulations of the sand Regu	lump bailer to dump 5 sx. cement district 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS tate Corporation Commission. - 2316 sas 67068-8629	
Elevation: 1459 (G.L. / K.B.) T.D.: 4: Condition of Well: Good Po Proposed Method of Plugging (attach a separate p on top of sand. Cut and recover casing. Aff Is Well Log attached to this application as require If not explain why? Plugging of this Well will be done in accordant List Name of Company Representative authorized Address: 2485 S. State Rd. 14 Plugging Contractor: Quality Well Service	PBTD: 4160 Ank Or Casing Leak Jur Dage if additional space is needed): Plug to ter casing recovery follow top hole plug ad? Yes No Is ACO-1 filed The ce with K.S.A. 55-101 et. seq. and the add to be in charge of plugging operations (Company Name) 554 (Company Name)	k in Hole ack with sand to 4050. Use of gging instructions of K.C.C. D Yes No Rules and Regulations of the S Russell Myers Phone: (620) 793 City / State: Kingman, Kan KCC License #: 31925 Phone: (620) 727	lump bailer to dump 5 sx. cement district 2 office (316-630-4000). RECEIVED KANSAS CORPORATION COMM SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS tate Corporation Commission. - 2316 sas 67068-8629	

BAKER SERVICE TOOLS — TALLY PAD

	Well No	Field	Spivey	Lease Raila
Oil Company ——— Company Man ———	Date Drilled		Kingua.	State Kausas
			50 Sec 1-3 5-695-22	
	— 261 Base 878	23.0# W/Z60	5x 60/40 (Circ)	
}	\$ 3150 T. D. G.			RECEIVED KANSAS CORPORATION COMMISSION SEP 2 9 2006 CONSERVATION DIVISION WICHITA, KS
	- 4160 POTD - 4198 Base 42 - 4202 LITD			t, 5# Kol-Seal/Sx, 5%FL)60

PICKRELL DRILLING COMPANY, INC.

100 SOUTH MAIN - SUITE 505 WICHITA, KANSAS 67202-3738 (316) 262-8427 • FAX (316) 262-0893

September 29, 2006

RECEIVED KANSAS CORPORATION COMMISSION

SEP 2 9 2006

Kansas Corporation Commission Conservation Division 130 S. Market, Room 2078 Wichita, Kansas 67202

CONSERVATION DIVISION WICHITA, KS

Well Plugging Application Form CP-1 Reida No. 5 Sec. 1-30S-7W, Kingman Cty., Kansas (API #15-095-22044)

Gentlemen:

Enclosed please find a Well Plugging Application for the captioned well. We have a rig lined up which would be able to do this work the first part of the coming week. We would like to take advantage of this often scarce equipment while it is available. We currently have the work scheduled to begin next Tuesday, October 3rd.

Yours very truly,

PICKRELL DRILLING COMPANY, INC.

cc: Russell Myers

Kansas Corporation Commission District #2 3450 N. Rock Rd., Suite 601 Wichita, KS 67226

Quality Well Service 401 West Main Lyons, KS 67554 Kathleen Sebelius, Governor

Brian J. Moline, Chair

Robert E. Krehbiel, Commissioner

Michael C. Moffet, Commissioner

NOTICE:OF RECEIPT OF WELL PLUGGING APPLICATION (CP-1)

Pickrell Drilling Company, Inc. 100 South Main - Suite 505 Wichita, KS 67202-3738

October 09, 2006

Re: REIDA #5

API 15-095-22044-00-00

SWNWSW 1-30S-7W, 1650 FSL 330 FWL

KINGMAN COUNTY, KANSAS

Dear Operator:

This letter is to notify you that the Conservation Division is in receipt of your plugging proposal, form CP-1, for the above-captioned well.

Your CP-1 has been reviewed by the Conservation Division central office for completeness and to verify license numbers. The plugging proposal will now be forwarded to the district office listed below for review of your proposed method of plugging.

Please contact the district office for approval of your proposed plugging method at least five (5) days before plugging the well, pursuant to K.A.R. 82-3-113 (b). If a workover pit will be used during the plugging of the well it must be permitted. A CDP-1 form must be filed and approved prior to the use of the pit.

The Conservation Division's review of form CP-1, either in the central or district office, does not include an inquiry into well ownership or the filing operator's legal right to plug the well.

This notice in no way constitutes authorization to plug the above-captioned well by persons not having legal rights of ownership or interest in the well. This notice is void after ninety (90) days from the above date.

Sincerely

Barry Metz

Deputy Director

District: #2

3450 N. Rock Road, Suite 601

Wichita, KS 67226 (316) 630-4000